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FEXTTE R B S BT, B R a] AR K H GBS, TEIEAER N A IR
Hr W — B AT BT AORAR A , K43 O RE B B2 5K % A6 IE B BRI IR 4R B B0, LBER%
A AT TR BB B, ZE WX R , B R LA LA

1) EHPTRE A RIRE . ERIBEBFI B, 55 5 BT A three | six, seven

%o ILHb,-teen Fil-ty HRZ MR
2) FEHE T8 B i v B e s ) 7 1) , T slow, fast, increase, double, decrease, drop to, 3 times
5, IBIARINIE 28, RAIESERR , A ILAE, Bl an .

You’ll hear:

W:0h, good heavens. It’s already 3 o’clock now.

M:Don’t worry. That clock is one hour faster.

Q:What time is it now?

X — UL A 2, {EA f [l 2 — Wi “ faster” —1a] , 22 b —/Ne, 45 14 “I's 4 o’clock now. ™ 45
W, XL RA ML HE IR, X

You'll hear:

M : The number of the freshmen in our department reached 90 last year,but because of lack of dormi-

tory rooms, it dropped 1/3 this year.

W : As far as I know,a lot of new dormitories are being built. The number of the freshmen next year

will double of that this year.

Q:How many freshmen will there be next year?

X — I IE RN B A — A, X LR AT S B R BE T 5 J  dropped ” i /2 © dropped to” o X —il
B4 ANk KA. 60 B.90 C.120 D.150, 4nSHM4E“ dropped” S 4 4R & H i “ double” , AS ¥
LB EFESR, B C I 120,

3) FEX T H fﬂ%"ﬁ?ﬂﬂ‘ ,IE AT T R ) R —— B R R AT B AR AR SR A, Bl -

You'll hear:

W :How much does that book cost?

M:10 dollars, but each of us 4 has only 8 dollars.
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Q:If each of them wants to buy a book, how much do they lack in total?

You’ll read:

A. $4 B. $8 C. $10 D $42

PR RN | B S B MRT BAG 4E , 1 F “10—book” , “4 x 87, 43 BIAR£“10 dollars a book” Al
“4 people x8 dollars” , H:ykiF:BHE] , A4 How much does a book cost?” #,“ How much do 4 books
cost?” [iij & “ How much do they lack in total?” ,'fEH{&ﬂ]ﬁ]‘uﬁU,’ﬂﬁiﬁ 10 x4 -8 x4 =8 filf A, %
MBI $8,

2. R :

f&,ﬁﬁﬁﬁiﬁ*thfﬁfﬁgﬁﬂﬁﬂ’ﬂ“%@,i!if“FﬂETffiﬁ'%iiﬁrPHjﬂ]ﬂ@’fﬁigxﬁﬁ,ﬂﬁ@—ﬂ&ﬁﬁ
Wl : ORI AT 5 OWIA ML o F5 U 21 T BRI FR S | M 375 o 0 I 14D 5K Bt ) 4 000 3R 3 B
Hio XM F7 2K “ Where does the conversation most probably take place?” iR — g 42
Kb A3,

M:Do you have any ties that match this shirt?

W :Sure. What color do you want?

FEIX ARG, T4 B “ ties™ , “shirt” | 45 2 4 4] “ What color do you want?” fR B} i | 3 —
FESETE“ clothes store” BF “ clothes department of a department store” H1 % 4= ]

W — AR SR A A VI REMCHRAE I B e L R 0 R SR 2 b 2 v 28 o BRFRy 10 4 5%
BRI, 40 B B H 4 )« trouble pain, fever, headache, heart disease, flu, medicine, operation % ; 7F
H )55 22 W7 2 : mail , stamp envelope, registered letter, EMS, by air mail , parcel 4§ ; 75 f5 15 v 2307 31 4% F
R E TR M RIS DRI S5 G . 308 T iy AT B e AT, 4 A5
RUERAEMTRIE 5 AT, QAR iR 5 1 7

WA — R R P 2 BN, 57 14 , 3R 2 M D Bk AN RERE 1Y
Mg,

M1 know this place. Go 50 meters straight forward. On the left side of the road, there is a beautiful

park; on the right side, there is a big supermarket. So youre not going home , are you?

W:1I need to buy some food for dinner before going back home.

Q:Where will the woman go first?

You'll read;

A. Go straight forward. B. Go to the park.

C. Go to the supermarket. D. Go back home.

EXBARIEF T 3 4% : home » supermarket,, park , Tfij A 8% % - 42 K /1 “ buy some food for
dinner” , 41 & 2 (4 b 77 B %2 C THif) “ the supermarket”

3. WK AR

RRABHITE YT AR N Gt e > XA B8 25 14 % F R 05—y T B g o
FRI P 7 SR 8 A TE W B A X7 =2 P 996 2R L AT T 280 4 D S e '

What does the man/woman do?

What is the man/woman?

What’s the probable relationship between the speakers?

XA HBON e, — AR T4 Y 25— L T 202 75 sk — J ISP X )
L AR B R — TSR A ST X8 o (1 S i), 2k P, 7 0 W AE R —
T Bl BT RO o 0 52 A (9 % 75 TP AR T B2 B class, exams, paper 4, 7ER¢# 5 )8
FZ A1 2x B menu, main course, dessert 25, i bh BRI 1 2 25 3 6 A0 L Ik 7 132 7% 49, Professor,
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Mr. , Mrs. J2& 5 & i (I FRIF , officer J2& X B 42 BRI 5 I A 22 18) H.FR 44 (first name ) 5 K222 i i
darling, dear 45 ; ]k 95 A BiFRAR 55 X4y Sir 5 Madame, ##1:

W :Excuse me for being late, Mr. Thomson. Something wrong with the engine of the bus I took and

it stopped between two stops.

M. That’s all right,Mary. Come in and take your seat.

Q:What is the probable relationship between the two speakers?

There are 4 choices:

A. Friends. B. Boss and secretary.

C. Teacher and student. D. Policeman and suspect.

FEAE Y, 4+ FRIF 5 A 4 Mr. Thomson, 1fij 5 - WIFR & F 4 Mary . RIS X BEXPIHEEA7E L
TRz 8], EALENE T, Ti“come in and take your seat” —ii] % H] FERHEL |, B LLIX B i —
E K H:AE Teacher and student 22 [f]

4. BETEMN

XA R AW G I, BEAR G UR TG A 254 8 1 4R 5 1) XU B — D % T R S i 3 e
Bt S B S BE , SRR RO A KD ISR R KA o I 2R R e it B A 4 T B T B
ENEEFERARE AP HE B BRI —8A

What does the man/woman think of ...?

What does the man/woman say about...?

What is the man/woman’s reaction/response to...? :

TEWTIX I S, 1 e T BT ) A T RFE MR W iy S SR 2 A TR B8 — TN E Y 4 AT,
SR A 4B B2 NS B T 2514 , W impatient , bored , curious , satisfied , optimistic % %, 4
ZNUKIE— TSR, e B U, 8 B T R A he, she if 2 they, RIS HLAEHRE A
MR L ot I RATIE R A S AR BE o LR PRI, Lt T LA B S W 2T T R T
TEMR—J7 I 5 b, BANRASETERUT B9 06 , N AT TRl — NS BE, 4 4 AN «

A. He feels unsympathetic. B. He feels it’s a pity.

C. He feels it’s unfair. D. He feels glad.

MTET H B 3 T LAt X e — G A REREL, 17 LS A EE U TS S, JRATT T LAWY 2R 51 %

W By the way, did you hear that Jack failed the mid-term English exam? It’s too bad because it

could have qualified him for next year’s scholarship.

M:He deserved it. He’s never really studied since last semester.

Q:How does the man feel about Jack’s failing the exam?

KR —EMRE ARG — TSR . 7ERZECXARRE E b, 28— UL H R A
RHFE—FLEIR, BoANUEENRERR DL R FAERXR. B AUEE RS .4 4
TN AL URERA I TS RIS . ARSI He deserved it. ” A7 HH 4518 He doesn’t feel
pity for Jack” , BT LARFREE RN Ao

W ] 5 15 20 AT e %5 8 B 0 GO AT — AR SR AE A B8 R, B AR ROV — A UTE A, i/
At T 56 4 BB T 468 P — A e T R S T ALY AR, TR IE R AR 5 5 2 1), PR — JF R LA I, 2%
HRTEB IR BAE T . 2R, RETE T THREERNER, BREAZZIET . Han 4 425
H:

A. He is curious. B. He is impatient.

C. He is exhausted. D. He is satisfied.
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X BRI —FF WA R BT B - k% 0T B B XHE K
M This is ridiculous! I’'ve been waiting for my meal for more than half an hour.

W I know. But you see, the restaurant is full and we are short-handed today.
Q:How does the man feel?

SRR T LRI TS, 17 4 (35 R X 1 B R 7 B8 Ft—IraE

Ui This is ridiculous | ” 4k fij 32 i3 : ...waiting for more than half an hour” , CIRRARE - N g
&% A B 1,

A AT B R RO S B, Bl .

You’ll read;

A. They think cinemas are too far away from their homes.

B. They are disappointed with the films produced these days.

C. They both dislike films about adventure stories.

D. They both like the idea of going to the cinema at night.

You’'ll hear:

M:I used to go to the cinema a lot. It did make a nice night out,but not now.

W:No,I don’t either. There aren’t any adventurous stories like the movies they made when I was
young.

Q:What can be concluded from this conversation?

FEIX BT 1, 45 S R 265K T TS 8, B +:5: “I used to ...a lot...but not now. ” %+

Ut:“1 don’t either. ” W] 0, X5 4} H # 0 L S5 A6 8, BF LAE I B E A 22,

5. ARXAR
PRI 9B R E AT A5 R -t 5SS L B, 53 e IS TRy 5 T ELAR T 24 M e S

RIS

“Why did ... do this?”
“What’s the reason that ... did ...?”

”

“What reason was given for ...?

il ;

W:Do you know why “Basic Theories of Mechanism” was canceled this semester?

M:Mr. Smith had an operation and he needs to stay in hospital for 2 months. Besides, he is the only
teacher who has taught this course.

Q:Why “Basic Theories of Mechanism” was canceled?

A. The teacher who taught this course was ill. B. Nobody has taught it before.

C. The course will last for 2 months. D. It should not be taught this semester.

EKBOM I, 2 B T 243000 53 SRR O P, 8 -t T R T 240 & WX

PRI ZE T

B RRIE AT A RIS T H AT S R S D A 5 R o fE T e

RITE )RR, PR R o 3 5 e o R JELRSE E e ML, 8

M: Why don’t you come to our house for dinner some time next week ?

W:T'd like to,but we have visitors form Finland, perhaps next week.

Q:Why can’t the woman accept the man’s invitation?

A. She is going to Finland. B. She has visitors next week.

C. She has guests here at home. D. She has just visited him this week.
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L0 R ARG MER SR RN B

FRGITF E55— KA AR E I AR Y “ Why don’t you come ...next week?” , 224l
PR T T AR SR R R 4G, BT LA At e A but” S SCHR , R A RE RS2 I A
J&“have visitors...next week” , I LI 5N B T, 76X BOO i H BA R n J5L A 9 2 37) 4 because, for,
since 4 , 5 R BT MAHE PRSIk, ERRCRMHZE D, RA FIRXES R ER S, 6
an.

W : Would you go to the cinema with us?

M:T'd love to,but I have two exams to prepare for.

Q:Why didn’t the man go with the woman?

TEX AR rp | WdE g A B2 “Td like/love to,but...” (HIF AR, “I'd like/ love to...”
R—ABEE, “but” J5 K WA AR PR AE R, BRI EL FAE BB but”
JE T 9“1 have two exams to prepare for” J& X BRI ZE, 5 1F T 3RATH EAREZE E IR

6. {3 9HIMT

R HIUA) F e  PIFA AHS BESRI A7 30 S B 7 SR

What has the man/woman done?

What is the man/woman going to do?

What does the man/woman offer to do?

What does the man/woman think the woman/man should do?

TEUT X AKX TE R , 55 —Fh ST 2 MW PR TE S T — & AT, B W RGP R i 21 E s
33X BT 7 B B A R O AR 10 B G S e R A R i, F RIS & T A AR TR AN
[ Gtz U

M:If you are in a hurry,you can take the subway. If you want to go sightseeing,take a bus.

W :Actually,I don’t have to be at the conference before noon.

Q:What will the woman probably do?

A. Hurry to the conference. B. Skip the conference.

C. Take the subway. D. Take a bus.

TEX BORIE R, B3R T W% “ take a bus” B “take a subway” K fif th A Al e 4% ) A 1F
1 BRIR B AR AR TR AT JI BT S, B AR RRRATTIT I RBE N A . L1371 don’t have to be
at the conference before noon” , X 2HH “She is not in a hurry” , fif LA th 4R 7] RE 2> 1 #E“ take a bus” , B
I D HIEMER.

BRI BT IR TEH SRR AT A , 25 T M FR R 1 s b At B i A8
ft4. it

W:Hey! If you can’t enjoy that at a sensible volume, please use earphones. I'm trying to study.

M:Oh! I'm sorry. I didn’t realize it was bothering you.

Q:What is the man probably doing?

A. Singing loudly. B. Listening to music.

C. Studying. D. Talking on the phone.

33X — {6 R B A AR RIS P A — SRR AL, T 5B TEAE T A A W SR B AR
HRAT N RO TRIA , AR 1 O RO H R AR TE A, HET I IEAEAATIOAT R . A RIS R B A “ en-
joy...at a sensible volume (3@ X435 % ) ...use earphone ( H-AJL) " 45 56 St 7] 4 ] AHEWT 55 +-— & IE7E
Wrft4, BT AR 2 B,

BKRIE R =P DR RIE & I — 05 R 55— 4 @ L LAFE B X O R E R — AT 3l
s F SR WRIE I — 7 30 5 — I R B . XRMRIE LR B ZR0AT R, A — 5 B RS
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F(’;Wﬁ}ﬁlﬁﬂ BB DAL SR ROE 3

E‘J?itﬂ%%@l‘*ﬁ,iﬁ?ﬂﬂ@%ﬂ/z\l‘ﬁ]@,@iﬁ(ﬂ@%@l‘ﬁﬁﬁ,Kﬁfﬁfﬁo n:

W:We mean to let everyone know about the charity concert,but we don’t have enough money for ad-

vertising.

M: How about using the school radio station? They broadcast free public-service announcement.

Q:What does the man suggest they do?

A. Announce appeals for public-service. ; B. Hold a charity concert to raise money.

C. Ask the school radio station for help. D. Pool money to fund the radio station.

bR 5 TSR A 4 T B AR R 19 P9 25, T 7% ) 5 Who suggests whom to do what? M [i] i
A X BRI R B 1 168 1) BEME PR 221, Bt 94 PRS2 “ don’t have enough money for advertis-
ing” o I3 XY “ using the school radio station” o 4 A.B.C D4 MLk, A D H8 X TR 1 ) 4
DREEAF B AL IR , AN 5 48 A L, L TE 2 28 3 © i,

7. HIKTSOE ERR

SR BRI P 51 40 H 7 1 o 0 AR BVBRIE ) EERA A, B
FAEICRIERIRRE AR S o W UL A3 S 3 1 [ i 4

What are the speakers/they talking about?

What is the man/woman talking about?

l What is the problem they are talking about?

Eﬁ%iﬁiﬁ*iﬁ%"’%tﬂﬂlﬂ‘é?ﬁ*’l‘f’ﬂfvﬂﬂ‘]%’l\ﬁﬁﬁﬂ‘]?ﬂiﬁ,%E-EEEEM%%’CPUEI?WHM&
ISR RAF 2 , 101 |

W:I wonder if our children will still be able to breathe the clean air,drink the clean water and see

the blue sky.
M: I agree with you. I think it’s time man learned to live in harmony with the earth instead of just ex-

ploiting it.
Q: What are they talking about?
A. The environmental problem. B. The health problem.
C. The educational problem. D. The international problem.

Eﬂ&iﬁlﬁ*,{ﬂﬂ]ﬁ?ﬂT%ﬁ\ﬁﬂ 19 : breathe the clean air, drink the clean water, see the blue

sky,live in harmony with the earth,ﬁ%?ﬁ%f‘%%ﬂ'lﬂﬂiﬁﬁiiﬁﬂﬁiﬁmﬁ,ﬁ%ﬁﬂ“ﬁ%‘ﬁlﬁﬂ‘iﬁﬁ%,
' By LA AtA TRIBHIR R A Jji The environmental problem,

A, SR o 2 B T 5 1y 45 A Dy B R IR I B WA 7 i o 5«

M:I just got a statement from the bank. It says I've drawn $ 300 more than I have in my account.

W :Well ,we did spend a lot on our vacation. In fact,we didn’t know exactly how much was in our bank.

Q:What are they talking about?

A. They spent 300 dollars on their vacation.

B. They drew more money than they should have from the bank.

C. They lost their bankbook.

D. They had only 300 dollars in the bank.

FEIX Bkig MEATTER K 5 AT (9 SRATAF AT 36 1946 9 T « W 4024734 S, AERBER, A
RRATAF BRI UIBOE o fEL4% 7 T 5 S A 26 LD 57 SR AT TR ) 2 B, e B
4 BRI, A L5 D I YR H 19— 4045 300 dollars KA, C eI PARA AR,
BEIEWH &5 HAER B,

8. iLlRSRBAES L
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L0 3R SRERSIE S RS I

TEIEAE KA R R , 30 0 3 500 L BB R AR o 3 288 () 285 SR AE N P B B4R
4t T B SR 2 A R 0 b SR 0 5 P SR TR , AT — i OB A, R A R, R SR SR A 4y
PEATIAGN, 15 A5 . X IHE R i TE A

What does the man/woman mean?

What does the man/woman imply/suggest?

What inferences can we make form the conversation?

What can be learned/do we learn from the conversation?

What conclusion can we make from the conversation?

1) BRAFG0T

FEHES WA B SRR R | A — AR BEaR % 2 LA P R v SR BN — N SR A AE
S AT SR B R RIA I . IR T RE MRS, A TR EEEREET .
W

W .1 don’t understand why this book for self study doesn’t have answers to the questions.

M. But it does. You can find them at the back of the book.

Q:What does the man say about the self-study book?

A. He thinks the book should include more information.

B. He doesn’t think it necessary to provide the answers.

C. The answers will be added in a later edition.

D. The book does include the answers.

TEX B R (5 8 AR A AR 4 5 48 F 2 5 [ 24 P AR . “ But it does” S 44 Wt 1) , 4
“But it does have answers” , “it” $§“ this book” , J5 3CH ) “ them” $§ Y J2& “ answers” , FW T XML
WYER], B R T,

U, XA TR B AL S —A S MHE | AL TR 4 o 33 ) 21 6 T RE S A R R 5%
HE, .

W : Would you like to go and see the new exhibit with us?

M: That’s the last thing in the world I ever want to do.

Q:What does the man mean?

A. He is often asked to go and see the exhibits.

B. He would like to go and see the exhibit.

C. He went to see the exhibit last year.

D. He definitely does not want to go.

X TE R SR AR T B LRI A A R RIS A — KB “ the last thing in the world I ev-
er want to do” o X J&=—/N3J B FIiE , 75 4 “sth. that sb. is unwilling to do” — H XA A,
AR MFHK T, B DA 27 R IE R R

M TG FIT AR, 00 SR AR G 5 A 3 A0, AT B AR 0 R K, ot AT
SR B A 30V R BRI R AT RO B S, A A A S A O

2) X R 0 A E A

K HOXFRIE AL BRI TG FAE 5 SO A i 358, T L BRIV I 2 e B
X, PE R R IR A AR, R R A R

W :Bob,can I come to see you at your home tomorrow evening?

M : Sure. Susan and I have sort half decided to go swimming late tomorrow afternoon. So give me a

ring before you come, OK?
11



Q:What can we learn from the conversation?

A. Bob will see Susan tomorrow evening.

B. Bob might be home late tomorrow evening.

C. Bob and Susan have decided to go on a holiday.

D. Bob asked the woman to come another time.

e ARG, fh#2%]“ Susan and T have sort half decided to go swimming late tomorrow after-
noon.”ﬁ%ﬁﬁitﬁrj:ﬂéiiﬁﬁTT4‘ﬂiﬁ5,ﬁﬂﬁ%%Eéiﬁﬁﬂﬂﬂ%viﬁrjrﬁiﬁﬁﬁﬁﬂ]7¢‘F¥fﬂ%ﬂ@ﬂ#ﬁ%i§§¥é§@?ﬁk,
LR o] REEBA 1K , e 5 A A e 5 PrLAE SN0 B i, i A7 7] A B
th AR IX S B2 1 S0 2 A B N R B s PF N 55— AR, LA 0T i
&

I KINEDTER S it R

1. iERE B

Wr TR X K B —MAE 6 ~20 A1) 2 J6] , P B0 250 17775, B0 43 A X 14 [ R T B
H3~44, —‘ﬁﬁXﬂ‘iﬁ*ﬁﬂs,&Xﬂ‘iﬁ%ﬁﬂ@ﬂ\]@ﬁﬁ/\,k%?&ﬁJ%%Ul‘?@?ékiﬁ%&*ﬂiixﬁﬁ
TRT BELAC R e X 37 e 4 T A A X B 1 B L — A—HIBR X TE W BB R — A 7 T X
W RMRE—N M, Exﬁﬁﬂﬁ%ﬁ.i—ﬂﬁ%“ﬁzﬁﬁﬁﬂ”B‘J,ﬁﬁi’dﬁﬁﬁwimfﬁ??ﬁﬁﬁ%%ﬁo R
BRI , R XHE IR — AR UE , 0B T % FRBRE SR 0, X378 XU 0 S BB 4 v 0 T
E%fﬁ@,xﬁﬁxﬁﬂﬁ%—‘,mm%&%m%&%%%m%&m;ﬁm'm‘,»%u*&o

Elﬂ:xiﬁ%i&z,i’:xﬁﬁm%ﬁﬁtii&m%ii,Fﬁﬁwwfmﬁﬂﬁ%ﬁ,xﬁfﬂﬁxﬁﬁ%ﬂ@%&ﬁ&ﬁ
RAEFEHE B, ﬁiﬁﬁﬁ@m%ﬁ,%%A%,ﬁfﬁﬁmﬂ,wemlﬁlﬂ,Ba‘l‘ﬁ],f&,ﬁ%%ﬂﬁ%%
B ?ﬁ%%%ﬁéﬁ%&%m*%ﬁiﬁ@,@%fﬂiﬁxﬁﬁﬂ@ﬁiﬁ%%,ﬁmﬁlﬁ*ﬁéﬁﬁ}ﬁﬁmﬂlﬁi
HRE

2. R R e

FERSOIT TR SRR SN, 2 B A SR R T

1) ERIT 22, A PR HERT ja]

PN B TF S5 TR K 5 5 B 1F 2T 06 W2 7, K 245 2 S etE] . PRI, A T
TR FAIX BEAF 6] 2% B SERA |45 BR300 , RO S B 2 SN Z B IS, B T
T R ) KB 1o, AT BT 4 CTENT IR H 4 F 3 3 BHY RBIAY s 5% 1
AP E R, W] AR AR A A, % A T LS ot e 4 R e T PR 2 52 N7 AR — AN KA 1 X 3
i, tbﬂu:E%iﬁ\@%aﬁﬁg%,&ﬁﬁ&ﬁﬁﬁﬁ%iﬁﬁ%%iﬂm,ﬂizﬂfAW& IES 4R s >
o, B I RO T AR L T ) P 26, RO i At A Ak 45 38 B ME AT, 7 24 L7
Wr, NEEAEIZIB | Ak & fit ] RERTIURFUR Y F — 0 2051

2) W FREFT SE L FR

W g T TR P et §ML~@%TE§JL@@PWEK%T—@E@%Eiﬁ%ﬁﬂa‘,mumﬂﬁ
BITRAENT L, Wi ANEE Sy T ML T 07 5725 00 P 2 BE TSR AE AT R, 40 07459 iR
TRHERITE , F AR AT DASERE ) IE A 2 e

3) UL WL AR

FEBAWTH S R oh, B R AR TEWTHER R ISR b, S ROT 210 3 8 5 2 40
o [N PR T P A5 2 YA A T T, 3 OB R R4S B, B i
KR 3R E R USRS B IRB RS S, 07 1473 BB S R MERT
RIS T —MERRIGR PR ST — 808, B o HIRES, B 5 RELLHER—
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| M05 HER A RE e RS s N

AEAHE B C B EBRAKF

II. G332 R e R R B 55 R it SR

1. BX R

JL SCHR A B b =AU, BT AR 200 1 A4 R SR B 3 ~ 4 A, JEi
10 /8, 5 A= e S8 SORVEEE JE AR BT WA PY 28 PABIT 45 1 O S B R 00 v B 6 — B A R
NIRRT SRR 2 ABERA SCR 3, B BT 2, W RE S AW RS RR  SC BE 3CH
RS A ST S B 5558 , 2B 2 25 A 75 BB AR B T U 481 30, AR BBCELAR R 8, B 0 EARL B
fitp G LRI, LA B T SR i B R B . 8 ST 0 22 (9 BESR MR A g, AR
AT AN, T H BRI A SN A SRR R 2, R A 2 A0 A0, B R X i £
SRR A SO B MBS 255

KO R ) R 3 2 AR LK

) sl /7 KEB

BORBAEAE T M2 C N A BEA_ERESS O BB BER R . R A

What is the passage mainly about?

What does the story try to tell us?

What’ s the topic discussed in this passage?

2) FEYTE

SR AEYE RSO ) BUA TS0, W S ), AR 2 v , I B s v B i B
TR R R 7 AF . AT REE DAL B sl R SRR T B, R A O T 3 R
HOTIN A, AW A MEITU 4019, 3B EME S

3) LR TR

SR A AR A SC R BT SR A A S £ SR H A 2 % 0 AR TE 6 11 41T, 4R 1R A

What do / can we learn from the passage about ... ?

What do / can we know about ... in the story?

4) B / PR

% He T AR SCRE AR B AORFIW BUAE S BEk H 9, 318 2 N H A

What does the author say about ... ?

What’ s the speaker’ s attitude towards ... ?

What’ s the author’ s purpose of ... ?

W4 SCHI 22 TN YE e 00 + 43 B, S SO TR Sk RS B ot F I & wpoly / KR I B
4/ 75 BERBURE BhAR K, JUHAR SO Sk 84 B i) A3 AT 4 S PR A H B . ZEVT S A
H ot T B A T AR I 43 B A TR BBURR , R R 2 BT Y < fiest, second, in addi-
tion, furthermore, finally %% ; /R B U HTHY : however, but, on the other hand, on the contrary %5
% FAR R R I s because, since, for, as a result, therefore, hence, consequently 254 5% #61d]
TEA By TRATEIN LT AR , FEih B& R IT 7 =X, o F ST o0 & SORAR 5 4T 404 Bk
AIFE o

2. K REi 5 B

1) 7| F#iH 15 Directions (i} 18] , xRN Y3 — 36 5 TE A4 Bt BRI Directions ) P4 25 % 2k — iR &6
RIS , N FIEANT o 28 A= VT ) i3k B e ) AR08 22 0 F) P9 22 4 7 == 5 4061 ST Bt B 2 8, R /N
BRA RFETRRN R, ST RERA A AR o 25 A 30 PIAR 8 56 T % A7 45 7647 B0 5 43 1
HISCEAGE T RS T IR, A TR R B O M AT/ S U A M X 2 KA B A
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O HO SRR AREB NS ML S R R p)

2) Wr gt R RE BT , I BT 1 VA2 T LA K B O 0 4 TR A A,
I IR] B A SR R T, — ELIT B35 P 28, IS b A 3 1

3) Wrird e, TR A A S RS B ST B SO T E, 4 A
TRNFEARCER A, AP hefeid R DAL BSOS ANEE R , FUATR A B A Ry
TR RGN — BT, Bt i KRETEAL AU A A M2E . BE
SUE A AT WIR F9NERIGARE . B R 000, B PG T s EREBL R, WA 40,
R, FEVT S BRI FLAYT B B S IHR , 12 F St ) AR AT A2 R Xt 2 g ELAAR iR ; —
FRURRT B RAREA A, BER H 20 B 445K 40 T i L, kgl REEEEIPR . FRAIZENT
AR R AT & L FVE RIS A X A g

@%fj‘\‘)‘(ﬁ}%’{ﬁ(ﬁﬂ[ﬁ}?%ﬁj?,—-ﬁﬁﬂﬂ first, second, in the end, in addition, furthermore , final-

ly SR 5]

QFR BT A F, — Rkl but, however, on the contrary 45| §:;

QFRH R X RINAF, — ik because, since, for, thus, as a result Z55| &

4) HERRRISCR R0, T A6 ST H BR84S0 Y i i W AN Y65 ) R, W 18 00 T4
AT FE4F, ot AT IE A 2 2

V. 86X EHBE RS iR K%

1. fp A

S5 AT 5 BT 55 A () B, T 5 A AT, A R 5 7 4 2 U 00 5 T ik
T1o BEESSIBRUT AR 250 12247 WUSEEAE 3, SCRERIRA K 235 1 I 24 0% NG E B el
5 FARBAMERE ST I3 ISR o BT 148 %, SO B 11 e LAEPAN RS,
P WRIP R 5 1), BESR A AR BT A A M M B 2 LA, — 26 8 B RS 8 i
AR, R — i XS A JUE I T A4 LT SR

1) %5 B R (971 351 , 401 compliment (#3%) , complement( FfHII4) ;

2) —LL5 5 W (K K FIR), 41 confirm (#3A ) , conform ( {442 , fdi—3)

3) FLL R R AT A 1

4) >R A

SO NS T 3 R, ER TS S AT, AT P BTOT B RSO B AT B i
PN AI L BRI o 5 MBI AR LU — AN B, SO A (B 3R 224 R W A
SCHY AR S BERH AEAE ST 8] PO AT IS 90 R 5 , O LR R M R0 ), B ek |

2. iR R &

A HIRITE

SXCHS MU AL X I T UGS SARRE ST, — IRk, 0 S s i, CIESwIP
FE 547 -

1) Wi

BE JE ST EAT, I8 R SO iR AR AR AR E 36
ZE %, No working day is identical to any other, so there is no “typical” day for a police officer. ¥4
AT T typical” i), fHAME HHFE K “ topical” , BIRAR T typical AT type () —
W S DR difficult, 32002 i TR AEHL S0 BRI A5 Bh-al (94

2) Kfs

O ESRE ER?

Qi R 753 Wi 7 S P AR 2 T B AR SRR S L S5 S, R — iy e f A
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Ty SR AR HR RS D

BB bR SCHY I PR E

OB LS SE R I, Wi A1) a] RRVT S A AR A, K A AR R B S0k
FE ST

B 4] ¥ E .

1) Fh 37 AR 2 4 JE AR RE

B — B HG R HAE HYER AT R AR A RE ), IR SRS BT OB HE BRI H ) i
RIBTEOLRET) o BN KL R B :

I thought she was going to have the baby right in my cars. But fortunately, (44) [ the baby waited
to “arrive” until we got to the hospital |. F& L) & il 2> 76 8 () %8 4 N sk 012 74 T ok, HE a2,

RS R T i SR 8 ARG T R BT G R AT RS 15 th & F IR A7E % b, TR B B B LAJG A
H T, BORE T DAHERR S 22 A5 B E 9452, LR “ the baby waited in the hospital” ( #F7E &
B ) o AL At ] R BT SR rh  waited to arrive” J2“ SR Z B EAIAMRAE BT
SCHEMWT the baby was born in the hospital” , J LA} fif ARG IR TN AE Sy , BEALRLZE , 7EWT 1% e
P | A

2) fiff PR TE 7 ik

SRR S S BN T TS SR — S, TS LA A A T, RS R i T Y
WA o BRI AL, 7625 1 R FH B C v ] A0 3 i ] . BTl e et 2 i —
LR R R IS S 5 S ol W T [ R S A g ey b i S

il ;- — because; .. — so; =-— equal; sth. — something;ts— students; ads— advertisement ;

fridge - refrigerator ; demo— demonstration; esp. — especially; sb. —somebody 5%, JCi#iC , 2R 5 B
JEETF 33 e PALE] | X RE FITT PN 25 A 2 e T

%

(SN SRR 6D SR AR R S it R0

S HHE R TAR B A8 Section A il Section B BIANIR/MLA T o Section A J&%H 4] (Al
& AR — N PR RS | SR BE BRI % B . Section B J2 2 R 2Tk
PRIFIEFRARSCTE X PE—R A TAN B e BAR X B AR AE BRI 4 R 2 FgiAy {8 in b 48 FR
R A KIS 9 K 3 Rl

| EAEZEGEAESMNIXKEE

1. ERkGEMeE

S ) [ 285 1) I PR 32 B SR AR A 2 A o i 5 T A R A L) BE A B A, IR B A% T 2R A I E
AT BRI MRE Sy, S8 155 0k P ) e B, DB H A BN AR E , SEARHIE, ¥ B
A I T ST R AR LA . B AN 2 A R B R RN 25 51, PR T X B
A T 4 AN, H AT P E AR E , A FANESRE A e REFE R AT
MR REAR, S (1255 b 22001 35k 6 15 1 A0 A B8 IO X 38, 2 AN (0B SR 4 A RS ot P A SC
BRI MOt B e AR R

15



( T105 $8R ANRENAWSN S5 HHEE iy

RAIEIE BB, EEA LT 5 fh.

1) FRR AR

RS 2 SR P SR T A 80 A KU B, R T A0 ) T A 2 — BRI XEEE
) EREAE, — MR AETE S B — B — A 3R 3, A, FE R Y BUAE S — BEVA R R B
o W 7 RA

What does the passage mainly discuss?

What is the best title for the passage?

What is the main topic /subject of the passage?

What is the main idea expressed in the passage?

2) LY

201 R AR SCHR AL 15 N S AT AR I . 0 9 B L IR K,
SRS PRI 50 ¥ A FERE 735 o »EORF IR T4 7, FEig s H
TUFE BT, X ok 2o S STRAR AR tH VA , SRS PN 5 B M4 AR AR 28 o e L B 22 P R R
EATH LS LA R 5 1 AR

Why was it...?

When did...?

Where did...?

Who was...?

How...?

According to the passage, ...?

3) HEH g

VOISR S FEH AR AN B2 5 554 4007 S8 SR P AE ) B R — AR B 15 Bk
Blo JXIIY 012 BER A AN F 8 S 25 5 1 P 7 1 » 3 B TH SCREWETE 14 A SURIFE 2 BT 44 1 42
Ao FRRTL I SRR « AT T A S DS MR , 4458 S 228 ) B A R AR A AR A A 5
OIWTICE A K5 B, ERERAGER . T — e LR 72t s

It can be inferred from the passage that .

What does the passage imply about?

According to the author, what does the sentence suggest?

The author implies that

What is the author’ s main purpose in the passage?

4) WA

TANL R 5 B 2 SR RE T o AESEVE SCEEHL, 2% T ok 60 760 5 e 2 (PN 3 Ry
FAN IRl 23k 2ok 2k ) — AL ORI , A0SR BEAE S SC bR SCr R 30 EiAl g 1R G , W
BCTARAEE o ANSRARAE], T 26 ] A O BT AR . IR .

What does...mean?

Which of the following is nearest/closest in meaning to “...” ?

The word in line...refers to...

5) Ve 2 BE 1 VR

SR IR A2 %ot A A BE S P i v s s T ST, T T R o 75 8 A
f33L, 401 : optimistic , pessimistic, disappointed, depressed, satisfied, sympathetic, hated, critical, in-
different, objective, subjective, doubtful, positive, negative, approving % AL SRR Bk
UL, X e
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